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MEHH OIZ2A XNB(EX) 2,520 2,640 A120
J| 1,260
< 1,260
307 21240 2,520 2,640 A120
J| 1,260
< 1,260
05 RIZIRIE 3 2,520 2,640 A 120
OM=Hz OISZAIMA 298 XA
210,000& 1228 2,520
J| 1,260
< 1,260
2opzo LB (X) 60,670 49,394 11,276
J| 30,335
< 4,025
Al 26,310
101 @14 dl 29,800 29,986 A 186
J| 14,900
Al 14,900
04 JIZHHZ2XREE S 29,800 29,986 A 186
OzZmBRIRY 02 29,800
p] 14,900
Al 14,900
201 L2l 2,600 2,600 0
J| 1,300
Al 1,300
01 At 22l 2,600 2,600 0
OZsiae 283 ¢ 5,200& x500H 2,600
J| 1,300
Al 1,300
202 04l 1,440 1,440 0
| 720
Al 720
01 =LHOIHI 1,440 1,440 0
O™ BEXRXZAL (HHl 20,0002 «6L «12& 1,440
J| 720
Al 720
307 glz2tol & 26,830 15,368 11,462
J| 13,415
< 4,025
Al 9,390
01 22724l 25,360 15,368 9,992
OZS A A & &EHY| 20,0003 x893H 17,860
J| 8,930
< 2,679




2AN: A4
N2 Hols= AICIALS
Sl 2.0 MYY KlYReAY o HE)
(o
CEB - HS(3H) - HBAY - B Ol &F o4 %Ei 2t
Al 6,251
OZ&i&x Itz A& 10,000 x30H 300
J| 150
< 45
Al 105
OZsix=E 2 I 2 4,000 x600H 2,400
J| 1,200
& 360
Al 840
oA 28 2 XS
4,000€ 1,200 4,800
J| 2,400
& 720
Al 1,680
05 QIZtR E 2 1,470 1,470
OZ#X JI= XY (HYLHZT 2AL)
30,000 x49H 1,470
J| 735
& 221
Al 514
SHMIOITIIGHAIA THIoHAH MEXNRS(EX) 84,600 84,600
= 84,600
307 2iz2to| & 84,600 84,600
= 84,600
11T AISIEXAIEEX 84,600 84,600
SHAIQI T o AFZD IOl A MEX K2
150,000& 478 x12& 84,600
= 84,600
Sadgd Asaug(EX) 8,800 A 200
J| 4,400
Al 4,400
201 B9 8,800 A 200
J| 4,400
Al 4,400
01 AP 22| H| 8,800 A 200
OJIsYgyd 2t HEE3 el
2,000 x4, 4000 & 8,800
J| 4,400
Al 4,400
oA AUAUL(EX) 17,320 17,320
Jl 17,320
307 2I2t0| & 17,320 17,320
Dl 17,320
05 QIZ2tREF 2 17,320 17,320
Oozaddd E2ZAJ|/& 294 X 17,320
J| 17,320
Xot2e sHeMsS fIe BSHL 22 AIE 1,620,446 6,815
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A EAA
M Aot s=EEgdsS f8 g 2elAY
Sl WRAHY alAY CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Odzgazse feg2e 2208 & HHQ
500,000& *63l 3,000
ArlEa A og2el(Ex) 3,000 3,000 0
J| 1,500
Al 1,500
307 gl2tol & 3,000 3,000 0
J| 1,500
Al 1,500
05 BIZHRI & 3 3,000 3,000 0
OAlclgaas ogtael M2 s (FMTP) 3,000
J| 1,500
Al 1,500
KSAAE oty ZAMZAMA RS (EX) 45,938 46,644 AT706
J| 22,969
< 4,594
Al 18,375
202 oddl 500 500 0
J| 250
< 50
Al 200
01 = LH o4 1l 500 500 0
OXIGAtsl HZEZALALY =& HI 500
J| 250
< 50
Al 200
307 21201 A 45,438 46,144 A 706
J| 22,719
=3 4,544
Al 18,175
05 BIZHRIE 3 45,438 46,144 A 706
OXGALE A2 E AL 45,438
J| 22,719
L3 4,544
Al 18,175
ColHL 22| AL (XIOH) 12,600 12,600 0
307 glz2+ol & 12,600 12,600 0
01 222 F2Hl 12,600 12,600 0
OXIofzol H22eld X2 (LM L 2458
g 7Y) 15,000& 420K »23| 12,600
ColHA ALY (X)) (BEX) 29,909 20,450 9,459
< 7,477
Al 22,432
201 ¢er24l 20,189 14,350 5,839
< 5,047
Al 15,142
01 At 2t 2l 20,189 14,350 5,839




A EAA
HE: [otRe SABAS IS YRAYBE ALY
el BRAY 2alAY CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXfaEHEH 2E(EEE) S
1,384, 100& *7 4 9,689
= 2,422
Al 7,267
OXltjogna T2 29 S
7,000 30 503 10,500
< 2,625
Al 7,875
202 Oidl 2,400 2,400 0
< 600
Al 1,800
01 = LH 4 4l 2,400 2,400 0
OXIOHOI & 2tel At =& O 8l
20,0003 x10 128 2,400
= 600
Al 1,800
301 et d = 7,320 3,700 3,620
< 1,830
Al 5,490
09 HALAHIEA S 2,520 2,100 420
OXltjo g2 (Z20d) 29 242
7,000 *30H » 123 2,520
< 630
Al 1,890
NIEEd=s 4,800 1,600 3,200
OXIHo g2l 2F 2A=H
80,000& x603l 4,800
< 1,200
Al 3,600
MOt &kt 2el Ak 25,194 25,194 0
206 M= Hl 3,000 3,000 0
01 M= 4l 3,000 3,000 0
Ot 2eIMNG 28 25 7L
500,000& x63] 3,000
307 gl2tol & 22,194 22,194 0
01 222l 22,194 22,194 0
OMIt & SH 2 27,0003 »822% 22,194
THOt 2R ZHelALE (B X) 18,280 17,366 914
J| 9,140
< 1,828
Al 7,312
201 Let24E] 1,020 2,024 A 1,004
J| 510
= 102
Al 408
01 At 22l 1,020 2,024 A 1,004




2N

M Iotztel sEE
©e WeAY e )
= SHE|
L RE-E =T - HISAREL - e 2t
Ot 2te 1,020
| 510
< 102
Al 408
202 oddl 1,000 1,000 0
| 500
< 100
Al 400
01 = LH o4 1l 1,000 1,000 0
OMItg e 20,0003 »2H 25 1,000
| 500
< 100
Al 400
206 M= Hl 11,500 8,750 2,750
J| 5,750
< 1,150
Al 4,600
01 =8l 11,500 8,750 2,750
OMIte & 46,0003 x250H 11,500
| 5,750
< 1,150
Al 4,600
301 et &t 1,960 1,920 40
| 980
= 196
Al 784
09 HAAHIE 1,000 1,920 A 920
Ot & = 1,000
| 500
S 100
Al 400
11 JIEtE 4 960 0 960
OOt &tk 960
| 480
< 96
Al 384
307 21201 A 2,800 3,672 ABT2
| 1,400
< 280
Al 1,120
01 s+ 2,800 3,672 ABT72
OMOItL et JIXH - 1,400, 000& *23| 2,800
| 1,400
< 280
Al 1,120
HEAM2H 9,500 9,500 0
201 £8t2d 2,500 2,500 0




A EAA
M Aot s=EEgdsS f8 g 2elAY
Sl WRAHY alAY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 =224l 2,500 2,500 0
OFZEAMNY X RAH 2,500
307 21201 A 7,000 7,000 0
01 2724l 7,000 7,000 0
OFRZEAMNGE 28 P (AT S 113) 7,000
LHE2EAANY 2D (EX) 14,800 14,800 0
< 2,960
Al 11,840
201 Let249H] 9,800 7,800 2,000
< 1,960
Al 7,840
01 At 22l 9,800 7,800 2,000
oYY 25 7Y 9,800
< 1,960
Al 7,840
202 044l 5,000 5,000 0
< 1,000
Al 4,000
01 = LH &4 1l 5,000 5,000 0
Og2Aad2elAed =&AL 5,000
< 1,000
Al 4,000
XNoixE et (Ex) 174,960 113,400 61,560
J| 87,480
< 26,244
Al 61,236
307 21201 A 174,960 113,400 61,560
J| 87,480
< 26,244
Al 61,236
05 RIZt2lEt = 174,960 113,400 61,560
OXHXE 22t XN (2VALESH I M) 174,960
J| 87,480
= 26,244
Al 61,236
dzg LoHyae NAANG(EXR) 170,000 170,000 0
< 51,000
Al 119,000
301 et d = 170,000 130,000 40,000
< 51,000
Al 119,000
NJIEEd=s 170,000 130,000 40,000
OZ2EZ20d 29 ZA==E 170,000
= 51,000
Al 119,000




SA EHA

_— T =

M NOIEel SAFAS S YRAYBIAY
S XFAS HAEAHAY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
N SA2 BAEAAY 873,575 982,916 A 109, 341
J| 122,925
< 185,917
Al 564,733
KNAAE HAUBAHHE 2H(EX) 165,850 160,000 5,850
J| 82,925
Al 82,925
101 @124l 140,550 115,800 24,750
J| 70,275
Al 70,275
04 JIZHHZ22XNHSE+ 140,550 115,800 24,750
OFAUAHLSIHE AR 140,550
J| 70,275
Al 70,275
201 L2l 9,972 21,652 A 11,680
p] 4,986
Al 4,986
01 At 22l 9,972 14,652 A 4,680
OBMBAAY &2 (B)ARE BH2Y
70,0003 »4H « 128 3,360
J| 1,680
Al 1,680
OFUMALSTEH HUHE 500,000& x12& 6,000
J| 3,000
Al 3,000
OFUNALSAEEH A28 7 2 =4 612
J| 306
Al 306
202 o4dl 2,000 2,000 0
J| 1,000
Al 1,000
01 = LH o4 1l 2,000 2,000 0
OFAUEAAMY FEHYI 20,0003 »2H +50 2,000
J| 1,000
Al 1,000
301 LA Z 5,280 10,500 25,220
J| 2,640
Al 2,640
09 EAAHIE &S 1,680 10,500 A 8,820
OFAUBAMSEFA B443 7,0008+20H 128 1,680
J| 840
Al 840
MIIEEd= 3,600 0 3,600
OFMUEHAY ZAr=& 100,000 «3&H ~x12& 3,600
J| 1,800
Al 1,800
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2N
X ZH -
L= B

el

= A

Aoreel sHgd
KIS Atel AEAHA

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 8,048 8,048 0
9] 4,024
Al 4,024
01 e =t 6,048 6,048 0
OFMEEA XIZHI XS 12,600 «40H 12 6,048
J| 3,024
Al 3,024
05 QIZtREZ 2,000 2,000 0
OBANBAHAEELAE DFY| 2,000,000 1 2,000
J| 1,000
Al 1,000
AMIEHAE(EX) 548,285 488,620 59,665
= 164,485
Al 383,800
307 2Iz2to| & 548,285 488,620 59,665
= 164,485
Al 383,800
11T AISIEXAIE EX 548,285 488,620 59,665
OFNMEEX AISIE2EHAIE 2 & 529,565
= 158,869
Al 370,696
OFAEET AISIEHAE SAL EESS (1
) 18,720
= 5,616
Al 13,104
K HEALS] KM A (EX) 71,440 44 670 26,770
& 21,432
Al 50,008
101 Q121 H] 37,770 30,200 7,570
& 11,331
Al 26,439
04 JI2ZtHIZ22NEE 37,770 30,200 7,570
ORI EAIYE o182 37,770
== 11,331
Al 26,439
201 et | 21,870 6,570 15,300
o= 6,561
Al 15,309
01 AP 2t 2| H| 12,870 6,570 6,300
OXANE & HAALSE T2 22H S
250,000& *x403] 10,000
= 3,000
Al 7,000
Os2g elE8 L AT 2
1,435,000 x2= 2,870
= 861
Al 2,009




SA EHA

_— T =

Bu: qOlBe SAFAS s YRAYBUMY
S XNGAs HBABAHAAY (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
02 2224 H| 3,000 0 3,000
OFANAHUSAHEYH 29 250,000 x12& 3,000
= 900
Al 2,100
03 A2 EH| 6,000 0 6,000
OXrA ol gtol Y s A} 1,500, 000& =4 A! 6,000
& 1,800
Al 4,200
202 04| 2,000 1,000 1,000
= 600
Al 1,400
01 2L HI 2,000 1,000 1,000
OXFAO ALY =& | 20,000¥ =100 2,000
= 600
Al 1,400
301 et A= 9,800 6,900 2,900
& 2,940
Al 6,860
09 HAIAHI BEAZ 2,600 2,100 500
OXAMEAIE =& BAZ 7,000 208102 1,400
[ 420
Al 980
OSooNERE HIAAEN H43
200,000 x64 &~ 1,200
& 360
Al 840
11 JIEtE2 A= 7,200 4,800 2,400
ORAUSALER BALY S
100,000& »6H x12& 7,200
= 2,160
Al 5,040
Aatolgt & HBAMHLSEAY 30,000 30,000 0
J| 15,000
Al 15,000
101 Q124 H| 29,600 29,350 250
bl 14,800
Al 14,800
04 JI2ZtHIZ2 2 NEES 29,600 29,350 250
OFNAHLSEAIY o2 29,600
J| 14,800
Al 14,800
201 et 400 650 A 250
J| 200
Al 200
01 Al 22! H| 400 650 A 250
OFNAHLSE g 227 40,000& 103 400
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2N
o Xoretel sEE
KSAAE HAZ2AA

X ZH
S =

el

= A

_— T =

= - — SHE|
M- =8 s (3) - HRAMY - BES 0l &t o8 il HlnE2
Il 200
Al 200
OlSEAYE HAUBAANL(EX) 50,000 50,000 0
| 25,000
Al 25,000
101 @144 Hl 40,100 40,100 0
| 20,050
Al 20,050
04 JIZHHZ2XREES 40,100 40,100 0
OOSELHFZABHAIY 212 40,100
| 20,050
Al 20,050
201 L2l 9,000 7,800 1,200
| 4,500
Al 4,500
01 At 22l 9,000 7,800 1,200
OOSHAH FUAASNITZIBESY S
100,000& *603| 6,000
| 3,000
Al 3,000
OOISHAUEASANY 2/EH L ELEE
-2 1,000& *3,000H 3,000
| 1,500
Al 1,500
301 L2 AF 900 2,100 A 1,200
| 450
Al 450
09 HALAHIEA S 900 2,100 A 1,200
OOsZA2FTEAMNEBAMAFTE Eo =z
5,000& 18 108 900
| 450
Al 450
NEAS BAB2AHAEEH 22 8,000 0 8,000
307 glz2tol & 8,000 0 8,000
01 o z2L =4l 8,000 0 8,000
ORMANET L JUFST S22 X
2,000,000& x4H 8,000
AL EAAMS 59,270 60,991 A1, 721
| 25,470
< 10,140
Al 23,660
X0t & HRI] AG(EX) 8,330 7,833 497
< 2,500
Al 5,830
201 LB-2gH| 2,500 1,500 1,000
S 750
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SA EHA

_— T =

Bu: qOlBe SAFAS s YRAYBUMY
& FLUEAAY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 1,750
01 At 22l 1,500 1,500 0
O+&2d u=s&8 JIAN 2
1,500, 000& *13| 1,500
< 450
Al 1,050
02 =224l 1,000 0 1,000
O7&d=22d4 Fd =&l 1,000
< 300
Al 700
307 21201 A 5,830 6,333 A 503
= 1,750
Al 4,080
01 222l 5,830 6,333 A 503
OXIOF EHRII MEFL(MHE S 108) 5,830
< 1,750
Al 4,080
Lolox BEEAMG(EX) 50,940 53,158 N2,218
J| 25,470
< 7,640
Al 17,830
307 glz2tol & 50,940 53,158 N2,218
J| 25,470
< 7,640
Al 17,830
01 22224l 50,940 53,158 N2,218
O7RzZHZel(eloxl & A=2eldl)
849,000& 22t +30H 50,940
J| 25,470
< 7,640
Al 17,830
ez S Se A2 S 4,000 4,000 0
AZdE A S#F3xd Y XNJ3AMY 4,000 4,000 0
AYMENMHE SEAMHA 4,000 4,000 0
201 Let249y| 2,500 2,500 0
02 =224l 2,500 2,500 0
OALSTANEE X S 2,500
203 R =&l 1,500 1,500 0
03 A F=XH R =AY 1,500 1,500 0
OHZEEAY AP RZ=AH| 1,500
THAICH el A2 2e| Aty 2,699,708 2,236,943 462,765
= 30,030
Xl 486,427
J| 539,683
< 227,231
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SA EHA

_— T =

I MO o A2l ALY
Rl SUEAHAIY (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 1,416,337
SIE2AAS 9,490 8,500 990
NS A2 9,490 8,500 990
201 gEt24y| 1,990 1,000 990
01 AFR2 22| H| 1,600 1,000 600
oHdEg 2R aF5)| ARE F2¢
16,0003 = 1004 1,600
02 =224 H| 390 0 390
Ot E 28+ 8F)| %2 ¥ A4ZAMH
15,0002 =26 CH 390
307 2I2t0| & 7,500 7,500 0
01 2dsd = 7,500 7,500 0
OJ1&0F & A 25,000 *300H 7,500
SN A 996, 125 996,490 A\ 365
2 30,030
Xl 72,427
J| 47,216
< 39,953
Al 806,499
SAMEHZ2 XS 751,100 789, 100 A 38,000
301 LBt A= 737,000 775,000 A 38,000
01 Al E & A 462 737,000 775,000 A 38,000
OsMRE2 687,000
EAMXFZ2(HMO) 500,000 x240H 120,000
EMIFZ2(SMOLH) 1,000,000 x197H 197,000
EAX 2 (A O 3,000,000& x90H 270,000
EAMXFZ2(YWOola 4,000,000 x25% 100,000
OME X X2 500,000& *100H 50,000
307 2I2t0| ™ 14,100 14,100 0
01 s =l 14,100 14,100 0
OJIE2=H X2 15,0008 x23| x50H 1,500
OFEol UYX2H XA
300,000 *3& x14H 12,600
AR MM S0 AR(EX) 90,534 99,726 N9,192
Xl 72,427
& 9,054
Al 9,053
307 2Iz2to| & 90,534 99,726 N9,192
Xl 72,427
= 9,054
Al 9,053
05 QIZ2tRE 2 90,534 99,726 N9,192
OXrR Ao A2 2e| X 90,534
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2N

2
RSN
=4

ol BAKIR ALY (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

Al 72,427
& 9,054
Al 9,053

Haes TAAH(EX) 94,431 107,664 N 13,233
J| 47,216
= 18,887
Al 28,328

101 Q124 H| 24,000 23,900 100
J| 12,000
o= 4,800
Al 7,200

04 JI2ZtHIZ2 2 ANEE S 24,000 23,900 100
HAEE T2AY o8l 24,000
J| 12,000
=} 4,800
Al 7,200

307 QI2t0| ™ 70,431 83,764 A 13,333
J| 35,216
= 14,087
Al 21,128

o1 s R=l| 70,431 83,764 A 13,333
Oelz243 Al=d XN 12,744
J| 6,372
= 2,549
Al 3,823
OHMA%E=H A=t X& 57,687
J| 28,844
=} 11,538
Al 17,305

HAES JIHH ZHES N (BX) 60,060 0 60,060
= 30,030
& 12,012
Al 18,018

307 QI2t0| ™ 60,060 0 60,060
= 30,030
& 12,012
Al 18,018

05 QIZtRES 60,060 0 60,060
ONMAEE JIMA KNE 56,448
= 28,224
== 11,290
Al 16,934
ONAESE ZH28 IH 3,612
= 1,806
= 722
Al 1,084

e 4 g SAIY 1,057,778 1,155,600 N97,822
J| 455,889
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SA EHA

_— T =

I MO el A2 A

el RIIE4 HYBIAMY (S &2)
4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 133,437
Al 468,452
=2 HEES 146,000 246,000 A 100,000
201 Bt 49d]| 2,000 2,000 0
01 AP 22| H| 2,000 2,000 0
OWEES AIREE L WAE H&
500,000& *43| 2,000
307 2Iz2t0| & 144,000 244,000 A 100,000
01 s R=H| 144,000 244,000 A 100,000
ONeEs 458 FU(HEUHLEES S 115) 142,000
OUEE JIMM(ze2i2E) ¢
1,000,000 23| 2,000
2IES UEES(EX) 911,778 909,600 2,178
J| 455,889
& 133,437
Al 322,452
101 Q24| 22,202 21,554 648
J| 11,101
Al 11,101
04 JI2ZtHIZ22NEE S 22,202 21,554 648
ONYRE sl 22y 22,202
D] 11,101
Al 11,101
307 212t0| ™ 889,576 888,046 1,530
J| 444 788
o= 133,437
Al 311,351
01 s =l 889,576 888,046 1,530
O=2JIg0e8s X 889,576
J| 444 788
& 133,437
Al 311,351
R0 AFEOIEEE A2 22| 54,034 62,227 A8,193
J| 28,937
& 7,785
Al 17,312
Ol=0t 2 AFAH0IA0 O Z2H XK (EX) 30,710 40,804 A 10,094
J| 15,355
& 4,606
Al 10,749
307 2Iz2to| & 30,710 40,804 A 10,094
J| 15,355
= 4,606
Al 10,749
01 e =t 30,710 40,804 A 10,094
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SM: BAL

— 4=

I MO el A2 A
bS] 2t 2

CHe: R0 AFE WA A2 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2

O0l=0t & AEAH0IA0F 92H K& 30,710
J| 15,355
= 4,606
Al 10,749

MESAIOIA A AL & E0ot2AE(BEX) 11,320 11,320 0
J| 5,660
& 1,698
Al 3,962

307 QI2t0| & 11,320 11,320 0
J| 5,660
& 1,698
Al 3,962
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= 474
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Xl 414,000
| 7,641
< 46,056
Al 114,584
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01 92724l 10,000 10,000 0
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= 856
Al 1,284
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| 2,141
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OFEAGE LS JaEato=Hl X 3,600

_29_




2AA
XEAICH o132 A2 2| AtY
MDA B (crl ®a)
- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Ei HR=2
Pl 1,800
& 720
Al 1,080
NS A2 9lZ2H XN (EX) 11,000 0 11,000
J| 5,500
= 2,200
Al 3,300
307 2Iz2t0| A 11,000 0 11,000
J| 5,500
o= 2,200
Al 3,300
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< 1,200
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Oy SE2e8 I ¢
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OXINZINATALS (RS H AP L LA A
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301 gt d= 18,000 12,960 5,040
< 5,400
Al 12,600
1MIIEBESS 18,000 12,960 5,040
OABIRAZAMAAN HEH|
50,0003 x6H 60! 18,000
< 5,400
Al 12,600
ALIsAaE2e(EX) 5,454 0 5,454
J| 2,727
Al 2,727
202 OHl 504 0 504
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01 = LH 4 Hi 504 0 504
OAHAIIsAE =& HHl 504
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206 M= Hl 4,950 0 4,950
J| 2,475
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01 MHZ 4l 4,950 0 4,950
OHZIsSAE =HE A 4,950
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02 JIEtA 2 == 307,754 307,729 25
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800,000 32 128 307,200
OZSESEHAA A2t 22
11,072@ 2 x25A] 2t 554
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O#FExH 93,454
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omazay
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